Munsell (Renotation)Buntheit C = 2 und Helligkeit (Value)lv =1,5 ugd 9
X,

in Farbartdiagramm (x,(F,M), y,(F,M))
Ya(F:M) = yo(F)=yo(M)
*=[0,0093-0,0138,+0,3338,/
[2,3587-0,4268,+0,2754;]
Y=1/[2,3587-0,4268,+0,2754,]

Yol
x=0.11,B=1.0

%o = X0 (XX)
¥2=Y20Y

X(F,M) = X5(F) ~X5(M)

Munsell (RenotationjBuntheit C = 2 und Helligkeit (Va\ue)l\{)- .5 ugd 9

in Buntheitsdiagramm (x*,(F,M), y* (F,M)) X0~ ‘qu’l
V2(FM) = oy () ~(M))] = ¢y Y, (FM) %=0-11,B6=1.0,6,=0,91Y 0344
x=[0,9093-0,0138,,+0,33380,/ X5 = Xa0(X=X¢)
[2.3587-0,4268,+0,27540,] Yo = YooY

y=1/[2,3587-0,4268,+0,2754p,]

X*2 = Oy Xp0(X%o)
¥*2= 6 Y20
X%(F.M) =cy %, (F.M)
= ¢y Dp(F)x(M)]

-0, 0,1 Vxy(F M) y,(F.M) 0,1 V x%(F.M) y%(F,M)
1 00 0.0 1 00 0.0
2 00 00 2 00 0.0
3 00 00 300 0.0
4 00 0.0 4 00 0.0
o1 W7 § 00 00 oo § 00 00
X =0313 ! 700 00 X =0313 7 00 0.0
8 00 00 Yy = 0,324 8 00 0.0
Yw =0.324 9 00 00 M =5 9 00 0.0
M 00 00 Yy = 25,30 M 00 0.0
Yy =25.30 L
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Munsell (Renotation)Buntheit C = 2 und Helligkeit (Value)v = Munsell (RenotationjBuntheit C = 2 und Helligkeit (Value)V =1,
in Farbartdiagramm (x,(F,M), y,(F.M)) X5=1.0, zu>1 0 in Buntheitsdiagramm (x*,(F,M), y*, (F.M)) X50=1.0,Y. 20’1 0
Yo(F.M) = Y,(F)-y,(M) %:=0.11,B.=0.8 V5(FM) =cy [Y(F)~(M)] = oy ¥(FM) %=0.11B=0.8,0,=0,91Y 0341
x=[0,9093-0,0138,+0,3338,)/ Xo = Yo (X—Xo) %=(0,9093-0,0138,+0,3338p,/ Xo = X0 (X=Xo)
itz -0 a0 2750 2 o0 cango 750 .
’ e ’ B =0y Xp0(X%o)
¥*2= O Y20

X(F,M) = X5(F) ~x5(M)

X%(F.M) =cy %, (F.M)
= ¢y D(F)x(M)]

X = 0,313
yp =0324
Yy = 25,30
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